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L'uscere ha agevolat

o il suo compito ?

N.

Molto

Abbastanza

Poco

Niente

Tot. Risp.

1

O NOOULPEAWN -

[ER
o

[y
[EEN

[ERN
N

=
w

[N
o

=
Ul

[ERN
[e)]

=
~

[ER
Co

=

=
(]

N
o

N
[

N
N

N
w

N
N

N
ui

N
[e)]

N
~N

N
(0]

R R R R R R R Rk

N
(o]

w
o

w
=

w
N

w
w

w
s

w
ui

w
[e)]

w
~N

w
(0]

w
(o]

N
o

o
[N

N
N

R R R R R Rk

IS
w

IS
N

IS
«

R R R RRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRRR




46

47

48

49

50
51

52
53
54
55
56
57
58
59
60
61

62
63

64
65

66
67

68
69
70
71

72
73
74
75
76
77
78
79
80
81

82

83

84
85

86

87

88

89

90
91

92

93

94
95




9 1 1
TOT. 46 45 2 0 96
% 47,917 46,875 2,083 0,000
47,917
46,875

94,792




